#2023-821%

N|

T,

i)
IR

SR

2023

ahod
SRS

=1

-
™

el
=

—_L
=]

| = A& B

iy

2023. 6. 1.

St L2602 ~90% OfLH)

s

!

-
o
a

X

7R A, AR

1
=

/H (7(

3|

8

]

A
L

)

=
T

S SAHABE0E~90X O[Uf) @ B|(LeiAE)+El
y

F
2Hd

® 30A O|Lf @ S&D 7HAL

=A

1 EERTH

A

g F2[&(mois.go.kr)

x
(kasem.safekorea.go.kn2 ol CIHREE 7t

AL

get

H

10

o/
<r

-—

)

<4



=z A=

M 2l

olJ
ro
=
Mo

| M-St

N F=Neo)
oo—

E] 5= e%

- ("< 71%b) 8.1. ~ 8.31. 24:007}A

P
T

A

]

o

- (A5 W) o)W Y (safeedu@koreakr) T 22}

op

o]
K-

At 24l

o
0 =
z R0
KT u
iy Gl oF
-} | e <H
|I._AI _H_ _A._o
<0 Wk T
ol =
K{o m._| ta)
+ —r—
2 L, 1
ALY
_ Bl | | <0 joI
ol | [ | g 5
o |
- % IA
o} 1 & = 0
T -
<0 Kl l<g f1
joll N Ko
R < N+
oK B0 m.ﬁ a
OF A <
| 2] ko
]| | od ) |of &l
]| | o0
< < <
<0 <0 w:
..m.h_ ol ol
< | |IF ko
= = =
— N o

Eohoh g AgA oA Gl 122)

b

[ (A7) 2023 ¢



Bl o g

3}

mEER

1219 A] 4

o 3£

g

=0 A= 1708 S2(0), A7t =0 && 271 old S2(X)

2
=

X O) A7t =5,

Z1Zl sigste 2HEFel e, i Eokoll thaf

0 ®d, BHEA, FEAG 5 Ele)

=
=

AN A A2

o =
T O

ﬁo

-9 FA

SEANA %

Akl A Al e = 9lom,

Al
=i

_
10

= M=

3} (B044-205-4278)



1 7tESA

E0

wa

wid

oll
offl
ml

==

<

o123

oll
offl
Tl

==

<

B0
0

J A >

o

A

all
e
CIx 2%)

=2 [EERRERE

<A 1.

&7t A

3o

O At
(CH 3)

= 423
(50Xt O|LH)

AL

Xt
~

M

= 12023

ol

I

2l
=

20234




ol 4>

o

ojo
o

O

p—

<A 2. 7%

i

KO

od

ol

Ho

frd]

Ll

M

gL et

St A}

oo

.O|

K1

<

Otz ef £0|

[ F=Al7] BHELICE

=28 7|2

Kr
ofr

<

or
100

<

&

K

Ho
Ljo

[

™
Bl
ok 80

51 OF

o

-,

xa

FA,
gl
=

o2y

(e]]
=

NIEEY
o =
EaxpREnHe el 49

T
o243y

g9,

= 2/ 7|7 o|= HZ7|gUCt Cf

- TS AHE

7t S &E ME 0|20 O|83tAL M3ALOH|AH MSSHA| HELICY.

Ko

K

K.

Ho
a4

K0
ol

Pl

Ho
oF

T

Toll

=
o

1

7

ot AR A7t JASHCE o, SoE

#

[HAEC 2|2l SOIM] x EIIxb7L o 144 O]2HY

=R e

ik
o

otMmg 2

Chz|elez 20234
of &2|ghL|Ct.

=R

O] g A xte

|2
—

O
|_

=
—

)
oy
~
ol
— | T
K | =
m.w ar | ™
B8l ar
ol | — | &
= 1|
1] oa ol
O |= |
Y=

LICt @8eia(elel JHel

k

2
E|X| @EsUCh

otof

HF
| i
olelel Ex2= AME

HoRH(EEE 22l 2
=

X NQAEEES Y M22z0f w2t ZH4M| Oj2te| ots o= 2E T4
g
golst A

Ol L|77t?

o
L

LHO

(] S2[5HA]

2l
=

20234

g0
0

—t

|

=
=

B 5308 FoA A



M

=,
10

Ct.

F

jol
ol

LHO

2rel AALOf

o

jod

)

7
°

i
<0

-t

Kl
Hid
il

Ol
KT

Hr

zg

2ot =4,

|

gy
joll

F

HY ==

il
~K

i
gd

-

Joll

ojo

o]
Kl
il

|

=l
Ljo
X0

—t

Kl

L|CF.

F

-t
o
=

A0 =2

2l
=

20234

M
o

HOA AL

_
110




